

## County Distribution Detail Report through 02/02/2021

## Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	1,066	1,890	13	2,969	\$3,711.25	\$101.47	\$3,609.78	0.70	\$2,526.85
							Entity Tota	l:	\$2,526.85
							Adjustmen		\$0.00
							Total Amou		\$2,526.85
Beadle							rotal / lillot	••••	<b>\$2,020.00</b>
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	3,558	10,446	349	14,353	\$17,941.25	\$383.96	\$17,557.29	0.70	\$12,290.10
							Entity Tota	l:	\$12,290.10
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$12,290.10
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	894	1,232	6	2,132	\$2,665.00	\$61.94	\$2,603.06	0.70	\$1,822.14
							Entity Tota	l:	\$1,822.14
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$1,822.14
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	1,792	3,985	12	5,789	\$7,236.25	\$146.67	\$7,089.58	0.70	\$4,962.71
							Entity Tota	l:	\$4,962.71
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$4,962.71

## **Brookings**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
12/2020	10,389	21,430	185	32,004	\$40,005.00	\$849.14	\$39,155.86	0.70	\$27,409.10
							Entity Tota	al:	\$27,411.73
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$27,411.73
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	5	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
12/2020	9,134	26,261	472	35,867	\$44,833.75	\$963.02	\$43,870.73	0.70	\$30,709.51
							Entity Tota	al:	\$30,713.89
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$30,713.89
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	2,123	3,694	9	5,826	\$7,282.50	\$148.24	\$7,134.26	0.70	\$4,993.98
							Entity Tota	al:	\$4,994.86
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$4,994.86
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	548	484	3	1,035	\$1,293.75	\$26.67	\$1,267.08	0.70	\$886.96
							Entity Tota	al:	\$886.96
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$886.96
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
12/2020	2,269	6,410	41	8,720	\$10,900.00	\$236.97	\$10,663.03	0.70	\$7,464.12

							Adjustment:		\$0.00
							Total Amou	int:	\$7,470.25
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	666	1,406	11	2,083	\$2,603.75	\$53.41	\$2,550.34	0.70	\$1,785.24
							Entity Total	:	\$1,785.24
							Adjustment	::	\$0.00
							Total Amou	int:	\$1,785.24
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
12/2020	2,534	5,558	23	8,115	\$10,143.75	\$205.64	\$9,938.11	0.70	\$6,956.68
							Entity Total	:	\$6,958.43
							Adjustment	::	\$0.00
							Total Amou	int:	\$6,958.43
City of Box Elder, Mo	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	38	2,778	13	2,829	\$3,536.25	\$87.18	\$3,449.07	0.70	\$2,414.35
							Entity Total	:	\$2,414.35
							Adjustment	::	\$0.00
							Total Amou	int:	\$2,414.35
City of North Sioux (	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	585	2,645	91	3,321	\$4,151.25	\$100.52	\$4,050.73	0.70	\$2,835.51
							Entity Total	:	\$2,835.51
							Adjustment	::	\$0.00
							Total Amou	int:	\$2,835.51
City of Pierre, Hughe	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

**Entity Total:** 

\$7,470.25

12/2020	462	5,922	131	6,515	\$8,143.75	\$172.19	\$7,971.56	0.70	\$5,580.09
							Entity Tota	ıl:	\$5,580.09
							Adjustmer	ıt:	\$0.00
							Total Amo		\$5,580.09
City of Sioux Falls,	Lincoln (								, ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	2,746	25,857	2,594	31,197	\$38,996.25	\$815.99	\$38,180.26	0.70	\$26,726.18
							Entity Tota	ıl:	\$26,726.18
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$26,726.18
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
12/2020	1,262	2,380	73	3,715	\$4,643.75	\$94.65	\$4,549.10	0.70	\$3,184.37
							Entity Tota	ıl:	\$3,187.00
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,187.00
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	1,614	7,502	189	9,305	\$11,631.25	\$249.05	\$11,382.20	0.70	\$7,967.54
							Entity Tota	ıl:	\$7,967.54
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$7,967.54
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
12/2020	6,887	18,955	907	26,749	\$33,436.25	\$721.30	\$32,714.95	0.70	\$22,900.47
							Entity Tota	ıl:	\$22,902.22
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$22,902.22

Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	997	654	300	1,951	\$2,438.75	\$50.04	\$2,388.71	0.70	\$1,672.10
							Entity Tota	al:	\$1,672.10
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,672.10
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	3,156	5,798	40	8,994	\$11,242.50	\$251.65	\$10,990.85	0.70	\$7,693.60
							Entity Tota	al:	\$7,694.48
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,694.48
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
12/2020	4,605	13,970	307	18,882	\$23,602.50	\$495.78	\$23,106.72	0.70	\$16,174.70
							Entity Tota	al:	\$16,176.45
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,176.45
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	1,894	3,504	34	5,432	\$6,790.00	\$138.61	\$6,651.39	0.70	\$4,655.97
							Entity Tota	al:	\$4,656.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,656.85
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	1,649	2,903	43	4,595	\$5,743.75	\$123.96	\$5,619.79	0.70	\$3,933.85

							, la jaolinio.	•••	φοισσ
							Total Amo	unt:	\$3,933.85
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	1,145	2,144	7	3,296	\$4,120.00	\$86.08	\$4,033.92	0.70	\$2,823.74
							Entity Tota	al:	\$2,823.74
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,823.74
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	1,216	2,855	30	4,101	\$5,126.25	\$103.19	\$5,023.06	0.70	\$3,516.14
							Entity Tota	al:	\$3,517.02
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,517.02
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	2,829	4,604	23	7,456	\$9,320.00	\$193.14	\$9,126.86	0.70	\$6,388.80
							Entity Tota	al:	\$6,388.80
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,388.80
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	713	1,488	21	2,222	\$2,777.50	\$56.28	\$2,721.22	0.70	\$1,904.85
							Entity Tota	al:	\$1,904.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,904.85
Grant									

**Entity Total:** 

Adjustment:

\$3,933.85 \$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	1,965	5,167	41	7,173	\$8,966.25	\$186.78	\$8,779.47	0.70	\$6,145.63
							Entity Tota	ıl:	\$6,145.63
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,145.63
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	1,624	3,479	4	5,107	\$6,383.75	\$141.58	\$6,242.17	0.70	\$4,369.52
							Entity Tota	ıl:	\$4,369.52
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,369.52
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	980	1,350	6	2,336	\$2,920.00	\$58.60	\$2,861.40	0.70	\$2,002.98
							Entity Tota	ıl:	\$2,003.86
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,003.86
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
12/2020	1,558	3,804	17	5,379	\$6,723.75	\$134.91	\$6,588.84	0.70	\$4,612.19
							Entity Tota	ıl:	\$4,613.94
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,613.94
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	1,022	2,607	31	3,660	\$4,575.00	\$97.51	\$4,477.49	0.70	\$3,134.24
							Entity Tota	ll:	\$3,135.12

							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,135.12
anson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amour
12/2020	820	3,007	30	3,857	\$4,821.25	\$99.32	\$4,721.93	0.70	\$3,305.3
							Entity Total	al:	\$3,305.3
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,305.35
rding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amour
12/2020	659	871	2	1,532	\$1,915.00	\$48.65	\$1,866.35	0.70	\$1,306.4
							Entity Tota	al:	\$1,306.4
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,306.45
ghes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amour
12/2020	3,920	8,509	258	12,687	\$15,858.75	\$370.95	\$15,487.80	0.70	\$10,841.4
							Entity Tota	al:	\$10,841.4
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$10,841.46
tchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amour
11/2020	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.7
12/2020	2,753	5,069	53	7,875	\$9,843.75	\$213.28	\$9,630.47	0.70	\$6,741.3
							Entity Tota	al:	\$6,743.0
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$6,743.08
de									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amour
			Lilios					i ercent	

							Aujustinei	и.	φ0.00
							Total Amo	unt:	\$1,410.17
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	609	885	4	1,498	\$1,872.50	\$37.74	\$1,834.76	0.70	\$1,284.33
							Entity Tota	al:	\$1,284.33
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,284.33
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	800	1,287	6	2,093	\$2,616.25	\$52.59	\$2,563.66	0.70	\$1,794.56
							Entity Tota	al:	\$1,795.44
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,795.44
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	506	683	5	1,194	\$1,492.50	\$29.97	\$1,462.53	0.70	\$1,023.77
							Entity Tota	al:	\$1,023.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,023.77
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	1,185	3,966	44	5,195	\$6,493.75	\$137.65	\$6,356.10	0.70	\$4,449.27
							Entity Tota	al:	\$4,449.27
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,449.27
Lake									

**Entity Total:** 

Adjustment:

\$1,410.17

\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
12/2020	2,576	9,024	73	11,673	\$14,591.25	\$297.86	\$14,293.39	0.70	\$10,005.37
							Entity Tot	al:	\$10,007.12
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$10,007.12
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	10	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
12/2020	7,211	17,328	218	24,757	\$30,946.25	\$641.19	\$30,305.06	0.70	\$21,213.54
							Entity Tot	al:	\$21,222.29
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$21,222.29
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
12/2020	4,616	23,780	1,831	30,227	\$37,783.75	\$861.93	\$36,921.82	0.70	\$25,845.27
							Entity Tot	al:	\$25,855.77
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$25,855.77
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
12/2020	1,081	1,839	223	3,143	\$3,928.75	\$85.48	\$3,843.27	0.70	\$2,690.29
							Entity Tot	al:	\$2,693.79
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,693.79
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88

12/2020	1,495	2,856	13	4,364	\$5,455.00	\$111.49	\$5,343.51	0.70	\$3,740.46
							Entity Tota	ıl:	\$3,741.34
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,741.34
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	1,964	4,286	20	6,270	\$7,837.50	\$160.38	\$7,677.12	0.70	\$5,373.98
							Entity Tota	ıl:	\$5,373.98
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,373.98
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	938	1,587	4	2,529	\$3,161.25	\$74.40	\$3,086.85	0.70	\$2,160.80
							Entity Tota	ıl:	\$2,161.68
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,161.68
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
12/2020	3,291	18,284	212	21,787	\$27,233.75	\$584.60	\$26,649.15	0.70	\$18,654.41
							Entity Tota	l:	\$18,657.04
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$18,657.04
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	560	694	0	1,254	\$1,567.50	\$31.34	\$1,536.16	0.70	\$1,075.31
							Entity Tota	l:	\$1,076.19
							Adjustmen	t:	\$0.00

Total Amount: \$1,076.19
--------------------------

Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	937	1,604	5	2,546	\$3,182.50	\$63.96	\$3,118.54	0.70	\$2,182.98
							Entity Tota	ıl:	\$2,182.98
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,182.98
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	14	0	14	\$17.50	\$0.00	\$17.50	0.70	\$12.25
12/2020	39,853	152,025	4,381	196,259	\$245,323.75	\$5,235.83	\$240,087.92	0.70	\$168,061.54
							Entity Tota	ıl:	\$168,073.79
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$168,073.79
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	1,214	4,594	124	5,932	\$7,415.00	\$170.13	\$7,244.87	0.70	\$5,071.41
							Entity Tota	l:	\$5,072.29
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,072.29
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	29	0	29	\$36.25	\$0.00	\$36.25	0.70	\$25.38
12/2020	23,378	82,206	2,152	107,736	\$134,670.00	\$2,883.77	\$131,786.23	0.70	\$92,250.36
							Entity Tota	d:	\$92,275.74
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$92,275.74
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

12/2020	1,669	2,311	12	3,992	\$4,990.00	\$110.72	\$4,879.28	0.70	\$3,415.50
							Entity Total	l:	\$3,415.50
							Adjustmen	t:	\$0.00
							Total Amou		\$3,415.50
Potter									. ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	1,050	1,750	8	2,808	\$3,510.00	\$70.64	\$3,439.36	0.70	\$2,407.55
							Entity Total	l:	\$2,408.43
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,408.43
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	3,144	5,067	17	8,228	\$10,285.00	\$228.85	\$10,056.15	0.70	\$7,039.31
							Entity Total	l:	\$7,039.31
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$7,039.31
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	989	1,781	11	2,781	\$3,476.25	\$69.92	\$3,406.33	0.70	\$2,384.43
							Entity Tota	l:	\$2,384.43
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,384.43
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	1,760	4,565	20	6,345	\$7,931.25	\$162.05	\$7,769.20	0.70	\$5,438.44
							Entity Total	l:	\$5,439.32
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$5,439.32

O4	
Star	บอง

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	322	2,165	50	2,537	\$3,171.25	\$67.59	\$3,103.66	0.70	\$2,172.56
							Entity Tota	l:	\$2,172.56
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,172.56
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	591	1,168	5	1,764	\$2,205.00	\$44.86	\$2,160.14	0.70	\$1,512.10
							Entity Tota	ıl:	\$1,512.10
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,512.10
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	0	80	2	82	\$102.50	\$12.98	\$89.52	0.70	\$62.66
							Entity Tota	ıl:	\$62.66
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$62.66
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2020	2,229	3,886	20	6,135	\$7,668.75	\$158.70	\$7,510.05	0.70	\$5,257.04
							Entity Tota	l:	\$5,257.92
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,257.92
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2020	2,023	6,222	17	8,262	\$10,327.50	\$209.98	\$10,117.52	0.70	\$7,082.26
							Entity Tota	ıl:	\$7,082.26

## **Total Amount:**

••

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
12/2020	2,813	11,258	586	14,657	\$18,321.25	\$447.80	\$17,873.45	0.70	\$12,511.42
							Entity Tota	ıl:	\$12,514.92
							Adjustmen		\$0.00
							Total Amo	unt:	\$12,514.92
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
12/2020	1,856	3,694	184	5,734	\$7,167.50	\$147.31	\$7,020.19	0.70	\$4,914.13
							Entity Tota	ıl:	\$4,915.88
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$4,915.88
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
12/2020	4,767	16,112	396	21,275	\$26,593.75	\$560.01	\$26,033.74	0.70	\$18,223.62
							Entity Tota	ıl:	\$18,227.12
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$18,227.12
Totals	198,072	608,800	17,015	823,887	\$ 1,029,858.75	\$ 22,061.76	\$ 1,007,796.99		